LI: To choose and use appropriate operations (including multiplication and division) to solve word problems
You will have done a good job if you have worked co-operatively with your partner, thought about the answer, worked out what kind of sum was needed and done the calculation.
1. [image: image1.wmf] There are 28 monkeys in a zoo and 4 cages. How many monkeys in each cage?
2. [image: image2.wmf]Paul goes to a football match. He sets off at 2:00pm and arrives at 2:25pm. How long did it take him to get there?

3.  There are 9 sweets in a mini box. How many sweets in 6 boxes?
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4.  Oranges are packed in bags of 10.                                If the bag of oranges weighs 750g, how much does 1 apple weigh?

5.  How many wheels are there on 8 cars?
6.  A packet of cereal weighs 500g. Ryan eats 45g for breakfast.    How much is left in the box?                                                          

7. [image: image4.wmf] Kelly goes shopping for new gloves and a scarf. The gloves cost £1.50 and the scarf cost      £2. 70. How much did she have to pay altogether?

8. In a school there are 320 children. There are 10 classrooms. How many children in each class?
